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2SB772T (3CA772T) FEPNP 3 E{K=4%%/SILICON PNP TRANSISTOR

FHI& T 3 FLEr SO, HE R T 4%, FE YR AL Mo as Fgk 48 K /Purpose: Output stage of

3 watts audio amplifier, regulator, DC-DC converter and relay driver.
B R R B Voo 2N, 2 MR 1, hye 51 /Features: Low saturation voltage, excellent he

linearity and high hge.

1% P8 240 /Absolute maximum ratings(Ta=25°C)

SRS HAH FAAT L "
Symbol Rati i el
ymbo ating Unit |£H ﬂ ;.ﬂ
Vero -40 \ I C| 4.178%0.3
"9 Booees
Vero -30 v ] 2] 3LE T
B ” __| |_|_ F W] 3. 00=0.
VEBO 5. 0 V G == I L 4620, 1
ol ﬂ ,@g;
Ie -3.0 A . N
P, 500 W [;m
T; 150 C glj: 1:B 2:C 3:E
Tes -55~150 C SOT-89
P BEZ 4 /Electrical characteristics (Ta=25C)
AL
SRS MR LA Rating FAA
Symbol Test condition /ME iRl BN E | Unit
Min Typ Max
ICHO VCH:_BOV IHZO _1. 0 U A
I}{H() V}{H:_B. OV Ic:0 _1. 0 U A
heeo) Vee==2. 0V I=1.0A 60 160 400
e Vee=2. 0V I=20mA 30 220
VCE(SQL) IC:72. OA IBZ*O. 2A 70. 3 70. 5 V
Vi sat) I=-2. 0A I;=0. 2A -1.0 -2.0 V
yiy Vee==b. 0V I=0. 1A 80 MHz
Cop V=10V I1:=0 f=1. OMHz 55 pF
hn<D§}$§\ ﬂjﬁi/hmmn classifications. Marking:
h}*‘l{(l)éj\*é/
hrsay Classifications R q P E
{?H”?Eﬁﬂ 60~120 100~200 160~320 200~400
) Range
kS H72R§ H72Q§ H72P; H72E§
Marking
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Cepuisa) MAX. (01 cmsﬁﬂ:, : Pulse Test AVeE=20 V.
WA S0 —TN\ Pulse Test |
L) N { —\w:,% S o [ 300 e T
—— o g gasl : - |4
G s
-1 % %""(-:i\} ! a0 s =
z R z ~12 -7 60 i s
A % ,.['-"99'} s =" -6 w i T >
o -03 g N . = 5 £ 30 - E
[¥%]5 n ’
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~0,03| 2 Curves must be derated lg==1mA 3 £ Tt o3
lingarly with increase of ui l
-001 temperature and Duty Cyele. | | [ o A .Io,l
el =3 -6-10 -30 -60-10 0 -4 -8 -12 -16 -20 -0.001-0003-001-0.03 -01 -03 -1 -3 -10
VCE V) Veg (V) |C (A)
Cib— Ve
VE(sal) Vig(sal - o -lc Cab - VeR
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